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QUESTION 1

Which option would you use to capture workloads from one or more systems concurrently and then play them back?
A. Automatic Workload Repository

B. Enterprise Manager Cloud Control

C. Consolidated Database Replay

D. Consolidation Planner

E. Workload Consolidator and Playback

Correct Answer: C

QUESTION 2

DBAs are spending an enormous amount of time trying to identify and fix SQL statements they are suspect have
regressed as a result of system changes not documented by the Operations Team. What would you implement to
resolve this problem?

A. Complete Oracle Enterprise Manager suite

B. SQL Performance Analyzer which helps predict and prevent SQL execution performance problems causedby
environment changes

C. SQL Plan Manager which uses system histograms to extrapolate future SQL execution performance
D. Oracle Database Backup and Recovery
E. Oracle SQL Developer, which helps develop and test the SQL prior to putting it into production

Correct Answer: B

QUESTION 3

Which three are controllable by a resource plan, when you are using the Oracle Database 12c¢ Multitenant option?
A. CPU

B. concurrent sessions

C.SGA

D. network I/O

E. ability to use parallel server processes

F. use of SGA memory and ability to allocate PGA
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Correct Answer: ABE

QUESTION 4

For which two capabilities would you implement Segment Advisor in order to aid a customer trying to find and fix
performance issues related to database space?

A. to determine if objects have unusedspace that can be released

B. to advise if materialized views can be used to reduce size of views

C. to review space usage of individual schema objects or tablespaces

D. to advise if there are any duplicate indexes and automate their removal
E. to identify any fragmentation in the database cache or swap space

Correct Answer: AC

QUESTION 5

What are three reasons an implementation of an Oracle Database Performance and Tuning solution is superior to that
of scripts or third-party tools?

A. Itis a part of the database, which means no added installations, configurations, extra user accounts,privilege
granting, etc.

B. It eliminates the need to reverify compatibility, upgrade third-party tools, or rewrite scripts after a patch ordatabase
upgrade.

C. It has the largest library of custom scripts and procedures and includes an assembly builder to maintainthem and add
more.

D. Results come from the Oracle Database Optimizer and not rules or heuristics trying to predict what theoptimizer may
do.

E. It is the most inexpensive tool in the market.

Correct Answer: BDE
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